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$7(2015 — 12) = 2015 - 44 — % <44 .45 .89
=1
= 88660 — 29370
= 59290
L7255 T, kKD DHHAN
59290 (&)

(1) (iii) 12 n =99 LA LT
£(99) + £(99+ g(99)) = f(100)
£(99) = f(100) — (99 + g(99))
£(100) — £(100) =0 (- g(99) = 1)
£oT, £(99) =0, (%)
(2) f(n) 20, g(n) 20 & (iii) £ 9
fln+1) = f(n) = f(n+g(n)) 20
THHDS
fln+1) 2 f(n) - (%)
F72, (i) 12 n =100 LA LT
£(100) + £(100 + g(100)) = f(101)
1+ f£(100) = f(101)
£(101) =2
(iii) 12 n = 101 LA LT
F(101) + F(101 + g(101)) = f(102)
2+ £(101 + g(101)) = £(102) ------ )
ST ogl01) 21 k¥ B
101 + g(101) = 102

THY, (§) £
£(102) — f(101 + g(101)) £ 0
Lnbd, 2l
(b) <= 2= f(102) — f(101 + g(101))
W9 5.
£ o7T, ¢(101) =0. (&)
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(3) (2) LFEBEIC LT, JEnigLC
gln)=0 (n =100, 101,...)
Nz b, LoT, n=2100128WT
fn)+ fn)=fn+1) <= [f(n+1)=2f(n)
THoH0H
£(2010) = 2£(2009) = 22£(2008) = - - - = 2119 £(100)
=210 (- f(100)=1)  (B)
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AHIERE

(1] 5% By 5 &
9

n? —nd=n3nf —1)= - 1)n3n>+1)
L%, ZIT, nk3THOLRYTHITERZD L,
(i) n =3k (k \3%E) 0L X
n® =27k% =9 3k*
I, nd—ndP o THA.
(i) n=3k+1 (k I3%EHK) or X
nd—1=0Bk+1)>%-1
= 27k® 4+ 27k* + 9k
= 9(3K> + 3k* + k)
X, n?—nP X9 TH L.
(iil) n =3k — 1 (k1 3BH) 0 & &
n*4+1=Bk-1)7°+1
=27k — 27k* + 9k
=9(3k® — 3k> + k)
X, n?—nPlZonEHTHD.
PEXY, EEOEHLICHLT R —n3 139 CHDEINL.  [SEERHE]
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